I am having problems understanding how to get the answers to the following question. I originally thought that it looked quite easy, however, when I started part b I got confused. The example I was given is as follows
A · B = |A| |B| cos (    A -     B) = 3 × 5 cos -20° = 14.1
I don’t understand where 14.1 comes from as I get 6.12! Is the example wrong?  Could you please explain the answer from the example and also answer the question below. Thank you.
a. Given the following 3 vectors, all of which lie in the horizontal plane:

A=2    -20°
B=7    30°

C=5    60°
Find:

a. 3A-B

b.
(1) A·B
(2) B·A

c.
(1) A × B
(2) B × A

d.
(5A – 6B + 4C) · (B × C – A × B)
